
� � � � � � � � � � 	 
 � � 
 � � � � � � � � � � � � � � � � � � �  ! " # $ % & ' ( ) * + , - .

qB�R$Btj�RR ]BtPB�8sj �$jj$t� ��tRB�R
stI {BPs{�B� }s$� RkR��8R

6! #�t�t�'
*�}s��8�t� BP �s�Y�8s�${R� =t$%��R$�k BP qZ�$t�

N�{�Z�� Y�jI s� �Y� ]BtP���t{� 7�s�� BPT�Y�Ts�� $t �Y� {jsRR${sj R�}s�sA$j$�k �Y�B�k PB�
�Y� I$&���t�$sj �JZs�$BtR� *�}s��8�t� BP �s�Y�8s�${R� =t$%��R$�k BP N$t,[B}$t�� FstZs�k
ETdd� 1((;� B��st$9�I Ak �� �s�{$t$s, stI 7� isZ{YTGB`{$�{YBbR,$�

d� yt��BIZ{�$Bt�
N�� N stI p A� �bB {Bt��s%s�$st� Rk88���${ 1T��tRB�R Bt s 8st$PBjI < / � N�� ZR
{BtR$I�� �Y� {Ys�s{���$R�${ �JZs�$Bt
wdD I��wN � `pD # I�� JU 0 1 � `t 2 3 o ) (3
G� {sjj �Y� z �BB�R BP �Y$R sj��A�s${ �JZs�$Bt �Y� �$��t%sjZ�R BP N b��� �B p� yt �Y�
PBjjBb$t� b� RYsjj �-s8$t� �Y� {sR� $t bY${YU
wsD p $R s 8���${ ��tRB� wBP stk R$�ts�Z��D $���� I��p W) (�
wAD N YsR R$8}j� stI ��sj �$��t%sjZ�R w` 4 D b��� �B p�
w{D N $R s {BtPB�8sj �$jj$t� ��tRB� b��� �B p�
wID N $R �B�R$Btj�RR b��� �B p�
N�� ZR {sjj NTRkR��8 s }s$� wN,pD BP �Y$R ,$tI� stI NT��tRB� s ��tRB� N Rs�$RPk$t� �Y�
sAB%� {BtI$�$BtR� qY� $t����R� BP {BtR$I��$t� RZ{Y s RkR��8 $R IZ� �B �Y� PBjjBb$t�
qY�B��8 d� qY� Rk88���${ 1T��tRB�R � 5 � y ) (, d, 3 3 3 , z� d� I�ht�I Ak �Y� R�JZ�t{�
w1D � 6 ) p, � 7 ) 89 ��w� 9 : ; NDp�� < : ; N, y W) (,
s�� $tI�}�tI�t� �$jj$t� ��tRB�R $t $t%BjZ�$Bt $P stI Btjk $P N $R s NT��tRB��
7$t{� sjj �Y�R� ��tRB�R Ys%� {B88Bt �$��t%�{�B�R� �Y�k I�ht� s 7�[s{,�j RkR��8 >���
d�M(H > � d��nH�
qY$R 8�stR �Ys�U w$D �Y� �$��t%�{�B�R s�� tB�8sj $���� B��YB�Btsjjk $t����sAj� B� RZ�Ps{�T
PB�8$t�U �s{Y Bt� sI8$�R st B��YB�Btsj PBj$s�$Bt BP Yk}��RZ�Ps{�R wRZA8st$PBjIR BP
{BI$8�tR$Bt dD� qY� R�� BP �Y�R� z PBj$s�$BtR PB�8R st B��YB�Btsj b�A bY${Y b� {sjj� $t
�Y$R {sR�� R�}s�sAj� B��YB�Btsj b�A B� 7�[s{,�j b�A� w$$D Vtk jB{sj }s�s8���$9s�$Bt
BP �Y$R b�A $���� stk {BB�I$ts�� RkR��8 wR = D RZ{Y �Ys� �s{Y PBj$s�$Bt $R jB{sjjk I�R{�$A�I
Ak �JZs�$Bt R = ) {BtR�st�� $R s R�}s�sAj� B��YB�Btsj {BB�I$ts�� RkR��8U �Y�R�
{BB�I$ts��R R�}s�s�� �Y� ��BI�R${ <Fe�



> ? @ A B A B C D E F G H I D G B J A I I K L F M I N B O P G Q N P C G H R N D H I S I C A T I U

qY$R �Y�B��8 RZ88s�$9�R ��RZj�R �R�sAj$RY�I $t > � d��1� d��nH $t �Y� {sR� BP }BR$�$%�T
I�ht$�� 8���${R� <Bb�%��� ZtI�� �Y� sRRZ8}�$Bt �Ys� �Y� �$��t%sjZ�R BP N s�� ��sj� �Y�R�
��RZj�R {st A� �-��tI�I �B $tI�ht$�� 8���${R� qY$R 8s���� YsR A��t ��{�t�jk ��%$R$��I
$t > � 1((;H�
NTRkR��8R s�� Btjk s R}�{$sj {jsRR BP 7�[s{,�j wB��YB�Btsj R�}s�sAj�D RkR��8R� <Bb�%���
�Y�k Ys%� �Y� PBjjBb$t� t${� }�B}���kU sjj �Y� �$jj$t� ��tRB�R $���� sjj �Y� JZsI�s�${ h�R�
$t����sjR BP �Y� ��BI�R${ 4Bb� bY${Y s�� ��js��I �B �Y� R�}s�s�$Bt� {st A� {BtR��Z{��I $t
s }Z�� sj��A�s${ bsk Ak �Y� R�JZ�t{� w1D R�s��$t� P�B8 �Y� ��tRB� N� y� $R ��8s�,sAj�
�Y� Ps{� �Ys� �Y$R sj��A�s${ }�B{�IZ�� IB�R tB� ��JZ$�� �Y� ,tBbj�I�� BP �Y� �$��t%sjZ�R
BP N� <�t{�� $t �Y$R {sR�� N }jskR �Y� �Bj� BP s ��t��s�B� BP �Y� $t%BjZ�$%� sj��A�s BP
h�R� $t����sjR sRRB{$s��I b$�Y �Y� R�}s�s�$Bt� 3Z��Y��8B��� PB� htI$t� �Y� R�}s�sAj�
{BB�I$ts��R b� Ys%� Btjk �B �-s8$t� �Y� ��tRB� N� bY${Y {Bt�s$tR sjj $tPB�8s�$BtU �Y�
b�A B��YB�Btsj �B $�R �$��t%�{�B�R $R $tI��I s 7�[s{,�j b�A�
WB�� �Ys� b� IB tB� ��JZ$�� �Y� PZt{�$Btsj $tI�}�tI�t{� BP �Y� �$��t%sjZ�R ` V BP N� RB8�
BP �Y�8 8sk A� {BtR�st�� qY� �RR�t�$sj ��JZ$��8�t� $R �Ys� �Y�k 8ZR� A� }B$t�b$R�
I$R�$t{�� ` W W) X̀ � <Bb�%���
qY�B��8 1� yP �Y� �$��t%sjZ�R w` Y D s�� $tI�}�tI�t� PZt{�$BtR� �Y�t �Y�k s�� R�}s�sAj�
{BB�I$ts��R�
qY� PZt{�$Btsj $tI�}�tI�t{� BP w` Y D $R �-s8$t�I $t > � 1((;H� y� {st A� RYBbt �Ys��
qY�B��8 n� qY� �$��t%sjZ�R w` Z D BP N s�� $tI�}�tI�t� $P stI Btjk $P N $R tB� $t%s�$st�
b��� �B s �$jj$t� %�{�B� BP p�
yt > � d��1H $� bsR RYBbt �Ys� �Y� I�ht$�$Bt w1D {st A� ��}js{�I Ak B�Y�� �JZ$%sj�t�
I�ht$�$BtR� bY${Y YBb�%��� ��JZ$�� �Y� ,tBbj�I�� BP �Y� �$��t%sjZ�R� V8Bt� �Y�8 b�
��{sjj �Y� PBjjBb$t� Bt�U

wnD � [ )
[3

\ ] ^ w�dD
_ � ` a b N b 3

<���� �c w`D I�tB��R �Y� �j�8�t�s�k Rk88���${ }BjktB8$sj BP B�I�� � $t �Y� %s�$sAj�R
` ) w` d D�
yt Ps{�� R�JZ�t{�R BP �Y� ,$tI w1DTwnD s}}�s��I $t �Y� j$���s�Z�� 8stk k�s�R A�PB��
b$�Y$t s {B8}j���jk I$&���t� ��sj8� yt �Y� i${{$ {sj{ZjZR BP 7{YBZ��t >7{� d�x;H �Y�k
s�� ��{sjj�I P�B8 7BZ�$sZ >7B� d�x(H stI 3���$R >3� d�x(HU �Y�k s�� ZR�I PB� {B8}Z�$t�
$t s PsR� bsk �Y� �$��t%�{�B�R BP s 8s��$- N w,tBb$t� �Y� �$��t%sjZ�RD� yt �Y� ABB, $�
$R sjRB ��8s�,�I �Ys�� $t BZ� tB�s�$Bt stI ���8$tBjB�k� �Y� ��tRB�
w;D +w?D ) {BPwN� ?pD
$R s }BjktB8$sj BP I����� z� d� bYBR� {B�^{$�t�R s�� �Y� ��tRB�R � e I�ht�I $t wnD�
<Bb�%��� $P b� �B PZ��Y�� $t �Y� }sR�� b� htI $t s }s}�� BP �Y� kBZt� N�%$T]$%$�s >N]�
dM�EH �Y� {BtR��Z{�$Bt BP ��BI�R${ h�R� $t����sjR Ak s PB�8Zjs R$8$js� �B w;D� $t {Btt�{T
�$Bt b$�Y �Y� }�BAj�8 BP htI$t� �Y� 8BR� ��t��sj 8���${ ��tRB� sI8$��$t� s ��BI�R${
{B���R}BtI�t�� ytI��I� $P �bB w}BR$�$%�TI�ht$��D 8���${ ��tRB�R 4p stI p s�� RZ{Y �Ys�
�Y� �$��t%sjZ�R BP 4p b��� �B p s�� R$8}j�� �Y�t �Y�k Ys%� �Y� Rs8� Zt}s�s8���$9�I
��BI�R${R $P stI Btjk $P p sI8$�R s NT��tRB�� qY$R 8s���� Ys%� A��t ��{�t�jk $t%�R�$T
�s��I Ak  BjR$tB% m �s�%��% > �� 1((nH stI ]�s8}$t >]� 1((ns� AH� <�t{�� NT8���${
8sk R�stI PB� N�%$T]$%$�sT8���${U $� $R s 8���${ sI8$��$t� s NT��tRB��



f g h i j i j k l m n o p q l o j r i q q s t n u q v j w x o y v x k o p z v l p q { q k i | q }

qY� s$8 BP �Y$R j�{�Z�� $R �B RYBb YBb �Y� R{Y�8� BP NTRkR��8R h�R b$�Y ��{�t� %��k
$t����R�$t� ��RZj�R BP isZ{YTGB`{$�{YBbR,$� Gs,R`[B� NZtI8s�,�  CjsR9s,� yAB��� �s��$�
�s�8B�  BjR$tB%� �s�%��% stI qB}sjB%� GYs� $jjZR��s��I Y��� htIR s 8B�� ��t��sj R��T
�$t� AsR�I Bt �Y� tB�$Bt BP R}�{$sj {BtPB�8sj �$jj$t� ��tRB� $t��BIZ{�I Ak ]�s8}$t�
7s�j�� stI qYB8}RBt wR�� �Y� ��P���t{�R s� �Y� �tI BP �Y$R }s}��D� Vt �-��tR$%� }s}��
Bt �Y$R 8s����� �t�$�j�I 7}�{$sj ��tRB�R� �JZ$%sj�t� Ikts8${sj RkR��8R stI R�}s�s�$Bt BP
%s�$sAj�R� $R $t }��}s�s�$Bt�

1� WB�s�$Bt stI AsR${ I�ht$�$BtR�
yP N ) wU ~ � � � � D $R s {Bt��s%s�$st� Rk88���${ ��tRB� Bt s 8st$PBjI < � � �Y�t b� I�tB�� Ak
h � �Y� }BjktB8$sj PZt{�$Bt Bt x � < I�ht�I Ak

h � ) U � � � � � � � N N N �� 3
qYZR� b� {st I�ht� �Y� Rk88���${ ��tRB� }�BIZ{� @ A��b��t �Y�R� ��tRB�R Ak R���$t�

h � � � ) h � h � 3
 k 8�stR BP �Y� _B$RRBt A�s{,��� I�ht�I Ak

\B,ti ) (B
(� �

(t
(R � � (t

(� �
(B
(R � ,

b� I�ht� s N$�TA�s{,�� Ak R���$t�
h � � � � � ) \h � , h � i3

qbB ��tRB�R s�� Rs$I �B A� $t $t%BjZ�$Bt $t >N,�H ) (� yP p $R s 8���${ ��tRB�� �Y�t
N $R s {BtPB�8sj �$jj$t� ��tRB� w]�qD $P

>N,pH ) ]@p3
yP ] ) ( $���� >N,pH ) (� �Y�t N $R s �$jj$t� ��tRB��
yP �� N� 3 3 3 s�� Rk88���${ {Bt��s%s�$st� 1T��tRB�R stI $P s 8���${ ��tRB� p ) wt � � D $R
}��R�t�� �Y�t b� I�ht� �Y�$� sj��A�s${ }�BIZ{� N� Ak R���$t�

w�ND � � ) � � � U � � / � � ,
bY��� >/ � � H ) >t � � H �   s�� �Y� {B%s�$st� {B8}Bt�t�R BP �Y� 8���${� G� Rsk �Ys� � stI
N {B88Z�� bY�t �N� N� ) (� qY$R �$%�R �Y� 8�st$t� BP RB8� PB�8Zjs BP �d�
qY� �B�R$Bt < BP s wd�dD ��tRB� q ) wx ¡¢ D $R �Y� wd�1DT��tRB� I�ht�I Ak

£¤ I ¥¦ § wqD 3) x ¨© ¦ ( ª « ª U ¬­ ® � x ¬« ( ¯ ° x «­ ®

qY$R I�ht$�$Bt IB�R tB� I�}�tI Bt �Y� {YB${� BP �Y� {BB�I$ts��R stI �Y� }s��$sj I��$%sT
�$%�R ( ° ) (b(R ± 8sk A� ��}js{�I Ak �Y� {B%s�$st� I��$%s�$%�R n ² b��� �B stk Rk88���${



³ ´ µ ¶ · ¶ · ¸ ¹ º » ¼ ½ ¾ ¹ ¼ · ¿ ¶ ¾ ¾ À Á » Â ¾ Ã · Ä Å ¼ Æ Ã Å ¸ ¼ ½ Ç Ã ¹ ½ ¾ È ¾ ¸ ¶ É ¾ Ê

{Btt�{�$Bt� GY�t <wqD ) (� q $R Rs$I �B A� �B�R$Btj�RR� qY� �B�R$Bt YsR A��t $t��BT
IZ{�I Ak W$`�tYZ$R stI <sst�`�R >W� d�xdH ><� d�xxH >3W� d�xEH� $t B�I�� �B �R�sAj$RY
{�$���$s PB� �Y� tB�8sj$�k BP �Y� �$��t%�{�B�R BP s wd, dD ��tRB�� yP b� R�s�� P�B8 s wRk8T
8���${D {Bt��s%s�$st� 1T��tRB� N� �Y�t b� {st I�ht� �Y� �B�R$Bt b��� �B s 8���${
��tRB� >/ Ë Ì H ) >t Ë Ì H Í Î Ak {BtR$I��$t� �Y� sRRB{$s��I wd�dDT��tRB� UÌ Ë ) U Ï Ì / Ï Ë �
 k �Y� ��RZj�R BP >W� d�xdH ><� d�xxH Bt� {st }�B%� �Ys��
qY�B��8 d� yP s Rk88���${ ��tRB� N YsR R$8}j� stI ��sj �$��t%sjZ�R b��� �B s 8���${
p� �Y�t <wND ) ( $P stI Btjk $P
w$D �Y��� s�� jB{sj {BB�I$ts��R wR Ë D $t bY${Y AB�Y N stI p s�� I$s�Btsj$9�I�
w$$D ( Ð Ñ̀ ) ( PB� 7 W) i� A�$t� ` Ò �Y� �$��t%sjZ� {B���R}BtI$t� �B �Y� �$��t%�{�B� ( Ò �
n� ejj$}�${T}s�sABj${ ��tRB�R Bt b Ó �
G� RYsjj bB�, Bt �Y� 8st$PBjI < Ó ) b Ó � ��P����I �B �Y� ]s���R$st {BB�I$ts��R ? ) w? Ô D
{�t����I s� �Y� B�$�$t 5 ) w(, 3 3 3 , (D� G� I�tB�� Ak � ) 5h �Y� }BR$�$Bt %�{�B� BP �Y�
��t��${ }B$t� h U $�R ]s���R$st {B8}Bt�t�R {B$t{$I�R b$�Y �Y� {BB�I$ts��R BP h �
G� RYsjj R�ZIk {Bt��s%s�$st� Rk88���${ 1T��tRB�R BP �Y� PB�8
wdD e ) ]LE �� �Lb @ �,
bY��� ] ) wg Õ Ö D $R s {BtR�st� Rk88���${ {Bt��s%s�$st� 1T��tRB�� b $R s {BtR�st�
%�{�B� stI E ; b� <���� @ I�tB��R �Y� Rk88���${ ��tRB� }�BIZ{� wBP %�{�B�RDU s@A 3)×Ø ws � A L A � sD� yt �Y� }s}��R BP 7� isZ{Y stI {BbB�,��R �Y�k s�� {sjj�I �jj$}�${
8s��${�R stI I�tB��I Ak p w
 ) E� # ) ÙÚ bD� <��� b� }��P�� �B ZR� �Y� Rk8ABj p PB�
s ��t��${ 8���${ sj�YBZ�Y� sR b� RYsjj R��� b� RYsjj $t���}����I s ��tRB� e sR s 8���${�
q�tRB�R BP �Y$R ,$tI b��� $t��BIZ{�I $t > � d��1H sR }jsts� $t���$s ��tRB�R BP s RkR��8
BP }B$t�R b$�Y w}BR$�$%� B� t��s�$%�D 8sRR�R� stI ��js��I �B �Y� R�}s�sAj� b�AR BP b Û
�tIBb�I b$�Y �Y� R�stIs�I eZ{j$I�st 8���${� qY� R{sjs� E $R �Y� �B�sj 8sRR w$� 8sk A�
9��BD� y� $R ��8s�,sAj� �Y� Ps{� �Ys� s ��tRB� e $R s �B�R$Btj�RR ]�q b��� �B �Y� R�stIs�I
eZ{j$I�st 8���${� RB �Ys�� $P $� YsR R$8}j� �$��t%sjZ�R� $� $R s NT��tRB� stI $� ��t��s��R
s NTRkR��8� yt > � d��1H $� $R RYBbt �Ys� �Y� {sR� E W) ( {B���R}BtIR �B �Y� �jj$}�${T
Yk}��ABj${ b�A w$���� �B �Y� R�}s�s�$Bt $t {BtPB{sj �jj$}�${TYk}��ABj${ {BB�I$ts��RD sR
b�jj sR �Y� {sR� E ) ( stI b W) ( {B���R}BtIR �B �Y� }s�sABj${ b�A w$���� �B �Y�
R�}s�s�$Bt $t }s�sABj${ {BB�I$ts��RD� yt �Y�R� �bB {sR�R b� {sjj e �jj$}�${ ��tRB� B�
}s�sABj${ ��tRB�� ��R}�{�$%�jk� qY� ��$%$sj {sR� E ) ( stI b ) ( {B���R}BtIR �B �Y�
R�}s�s�$Bt $t ]s���R$st {BB�I$ts��R�
!Z� s$8 $R �B RYBb �Ys�
qY�B��8 d� yP e stI 4e s�� �bB ��tRB�R BP �Y� ,$tI wdD RZ{Y �Ys� I��w4eD W) ( stI e
YsR }B$t�b$R� ��sj R$8}j� �$��t%sjZ�R b��� �B 4e� �Y�t �Y� ��tRB�
w1D N 3) I��w4eDe
$R s �B�R$Btj�RR {BtPB�8sj �$jj$t� ��tRB� b��� �B �Y� 8���${ ��tRB�
wnD p 3) I��w4eD 4e3
yt B�Y�� bB�IR� �Y� }s$� wN,pD $R s NTRkR��8 Bt �Y� 8st$PBjI b Ü � 3B� A��%$�k b� RYsjj
}�B%� �Y$R �Y�B��8 Btjk $t �Y� {sR� BP st �jj$}�${ ��tRB� 4e w4E W) (D�



Ý Þ ß à á à á â ã ä å æ ç è ã æ á é à è è ê ë å ì è í á î ï æ ð í ï â æ ç ñ í ã ç è ò è â à ó è ô

pB$t� As{, �B �Y� I�ht$�$Bt wdD� b� BAR��%� �Ys� e YsR st s^t� {Ys�s{��� w$� IB�R tB�
I�}�tI Bt s 8���${D� ]Bjj�{�$t� ��RZj�R BP > � d��1H b� {st s^�8 �Ys�
qY�B��8 1� w$D yP E W) (� �Y�t �Y��� �-$R�R s Zt$JZ� }B$t� 5 õ RZ{Y �Ys� e sRRZ8� �Y�
PB�8
w;D e ) ] õ LE � õ � � õ , � õ ) 5 õ h, ] õ ) ]� ö÷ ø b �b3
w$$D yP E ) (� �Y�t �Y��� �-$R�R s Zt$JZ� }B$t� 5 ù RZ{Y �Ys� e ú û wbD ) ( stI b $R st
�$��t%�{�B� BP e s� sjj }B$t�R h BP �Y� R��s$�Y� j$t� }s�sjj�j �B b }sRR$t� �Y�BZ�Y 5 ü �
yt $��8 w$$D b� ��P�� �B �Y� R�stIs�I eZ{j$I�st 8���${ BP b ý �
_�BBP� w$D yP 5 þ W) 5 $R stk B�Y�� h-�I }B$t�� �Y�t � ) % L � þ � b$�Y % ) 55 þ � 7$t{�

F �� � ) � ÿ � � ÿ L 1 � ÿ @ % L % � %,
b @ � ) b @ � ÿ Lb @ %,

$� PBjjBbR �Ys�

e ) ] ÿ LE� ÿ � � ÿ Lb ÿ @ � ÿ ,
F ] ÿ ) ]L % @ wE% LbD,

b ÿ ) b L 1E%3
3B� E W) (� Ak {YBBR$t�

% ) � d
1E b,

b� ��� b ÿ ) ( stI w1D� w$$D 3B� E ) ( R�� > � d��1H�
VR s {BtR�JZ�t{� BP �Y$R �Y�B��8 b� {st sjbskR htI s }B$t� 5� $t ��t��sj I$&���t� P�B8
�Y� }B$t� ( ; b � � RZ{Y �Ys� s ��tRB� e YsR �Y� PB�8

wxD
F e ) ]LE �� �, PB� E W) (,

e ) ]Lb @ �, ]wbD ) (, PB� E ) (3
�B��B%��� b� {st {YBBR� B��YB�Btsj ]s���R$st {BB�I$ts��R w? � D b$�Y B�$�$t s� 5 RZ{Y
�Ys�

wED
F o � � ) � � & � � LE? � ? � , PB� E W) (,

o � � ) � � & � � L � � w? 	 & 
 � L ? � & 
 	 D, � 
 ) (, j ) j � , PB� E ) (3

;� ]B88Z�s�$Bt ��js�$BtR�
V h�R� ��8s�,sAj� }�B}���k BP �Y� �jj$}�${T}s�sABj${ ��tRB�R $R �Y� {B88Z�s�$Bt PB�8Zjs

wdD >e,e 
 H ) 1 wV � @ e�V@e � D
F V 3) 1E�Lb,

V � 3) 1E � �Lb � 3
VR b� RYsjj R�� A�jBb� �Y� $t����R� BP �Y$R PB�8Zjs $R �Ys� �Y� N$�T{B88Z�s�B� BP e stI
e � $R s RZ8 BP �bB ���8R bY${Y Ps{�B�$9� $t e stI e � �Y�8R�j%�R� WB�� �Ys� �Y� %�{�B�R
V� 8B�� }��{$R�jk �Y� %�{�B�R W ) �� V� Ys%� A��t sj��sIk $t��BIZ{�I $t >iG� 1((nH�



� � � � � � � � � � � � � � � � � � � � � � � �  � ! � " # � $ ! # � � � % ! � � � & � � � ' � (

qB }�B%� �Y$R PB�8Zjs b� BAR��%� �Ys�� $t ]s���R$st {BB�I$ts��R�
h ) ) g * + � * � + LE w? * � * D

, L j * ? + � * � + ,
bY��� g * + stI j * s�� {BtR�st�� qY�t b� {st �sR$jk }�B%� �Y� PBjjBb$t� {B88Z�s�$Bt
��js�$BtRU T�����z

�����Z

\h - , h . i ) 1h / ,
\h / , wh . D 0 i ) ;h / h . ,
\h / , h 1 h 2 i ) 1h 3 h 1 ,
\h 1 , h 2 i ) h 1 ,
\h 2 h 1 , wh 2 D 4 i ) 1h 1 wh 2 D 4 3

7$t{� \h 3 , h 3 5 i ) (� \h 3 , h 1 5 i ) ( stI \h 1 , h 1 5 i ) (� b� Ys%�
\h 6 , h 6 5 i )
) \h 3 LEh 42 L h 1 h 2 , h 3 5 LE 7 h 42 L h 1 5 h 2 i
) \h 3 ,E 7 h 42 L h 1 5 h 2 iL \Eh 42 , h 3 5 L h 1 5 h 2 i
L \h 1 h 2 , h 3 5 LE 7 h 42 L h 1 5 h 2 i � 3 3 3 wR$8$js� ���8R b$�Y 7 $t���{Yst��ID

) 1E 7 h 2 \h 3 , h 2 iL h 1 5 \h 3 , h 2 iL 1Eh 2 \h 2 , h 3 5 iLEh 2 \h 42 , h 1 5 iL h 1 \h 2 , h 3 5 i
LE 7 h 2 \h 1 , h 42 iL \h 1 h 2 , h 1 5 ih 2 L \h 1 h 2 , h 2 ih 1 5 � 3 3 3

) 1w1E 7 h 2 L h 1 5 Dh 3 � ;Eh 2 h 3 5 � 1Eh 42 h 1 5 � 1h 1 h 3 5 L 1E 7 h 42 h 1 � 3 3 3
) 1w1E 7 h 2 L h 1 5 Dh 3 � 1w1Eh 2 L h 1 Dh 3 5 L 1h 42 wE 7 h 1 �Eh 1 5 D� 3 3 3 3

\h 6 , h 6 5 i ) 1
}
w1E 8 h 9 L h : ; Dh < � w1Eh 9 L h : Dh < ; L h =9 wE 8 h : �Eh : ; D

]

y� $R s RZ�}�$R$t� Ps{� �Ys�� Ak $t��BIZ{$t� �Y� %�{�B�R V b� ���
h > ? h @ � h > h @ ? ) w1E A h B L h C ? D wh D LEwh B D E L h B h C D� 3 3 3

) w1E A h B L h C ? Dh D LEh EB h C ? L 1E A h EB h C �
� w1Eh B L h C Dh D ? �E A h EB h C � 1Eh EB h C ? ,

RB �Ys�
\h @ , h @ ? i ) 1 Dh F G h H � h F h H G i

bY${Y $R �JZ$%sj�t� �B wdD�

x� ejj$}�${ 8���${ ��tRB�R�
N�� ZR {BtR$I�� st �jj$}�${ ��tRB� e� E W) (� VR b� Ys%� R��t� �d� w1D� b� {st sjbskR
htI B��YB�Btsj ]s���R$st {BB�I$ts��R w? I D RZ{Y �Ys�

wdD o I J ) & I J � I LE? I ? J



K L M N O N O P Q R S T U V Q T O W N V V X Y S Z V [ O \ ] T ^ [ ] P T U _ [ Q U V ` V P N a V b

WB�� �Ys� �Y� {BtR�st�R � c s�� �Y� �$��t%sjZ�R BP ] $���� BP e s� � ) (� b��� �B �Y�
R�stIs�I eZ{j$I�st 8���${� N�� ZR {BtR$I�� s {Bt��s%s�$st� Rk88���${ ��tRB� BP �Y�
,$tI

� d e ) & d e � f � � � g � h ? g ? h 3
G� Ys%�

o i j � k j ) D& i j � i LE? i ? j iD& k j � k � � � k � j ? k ? j i
) & ik � i � k LE? i ? k � k � � D� i � i ? i � k ? k LE? i � k ? k � l �

l
w?

l
D m i

) & no � n � o L ? n ? o � o JE� �D� n � n LE � l �
l
w?

l
D m io3

eJZs�$Bt o n
l
� o l ) & no $R Rs�$Rh�I $P stI Btjk $P

� o � o ) d, �D� n � n LE � l �
l
w?

l
D m i ) E3

qY$R RYBbR �Ys�
qY�B��8 d� qY� ��tRB� e wb$�Y E W) (D $R s 8���${ ��tRB� $P stI Btjk $P sjj � p W) (�
qY� {B%s�$st� 8���${ � p q $R

w1D � p q ) � p & p q � � � p � q ? p ? q , � )
w d
E L� r �

r
w?

r
D s W t u

, � v ) uw x

qY� 8���${ $R tB� I�ht�I Bt �Y� Yk}��JZsI�${
wnD d LE � y �

y
w?

y
D z ) (3

 �R$I�R � $� $R {Bt%�t$�t� �B {BtR$I�� �Y� JZst�$�k

 3)� { �

{
w?

{
D | ,

RB �Ys�
w;D � ) E

d LE
 , 
 ) }~ � �� , d� �
 ) ~� 3

qY� ��tRB� � � � YsR s ��8s�,sAj� ��B8���${sj $t���}���s�$Bt� bY${Y b$jj A� BP Y�j} $t �Y�
PBjjBb$t�� yt b � � � ) b � 
b ) w? � , ? � � � D� b$�Y �Y� {stBt${sj AsR$R w{ � , �D� b� {BtR$I���Y� RZ�Ps{� . � I�R{�$A�I Ak �Y� %�{�B�T}s�s8���${ �JZs�$Bt

wED J ) ? � { � L
5 d

E L� � �
�
w?

�
D � � ) �L F �, F 3) � � �� ,

b$�Y IB8s$t ; � 2 b � bY��� � k ( � 7$t{� ( � F ) F � � � � ? � � �Y� ts�Z�sj AsR$R BP �Y�
�st��t� R}s{�R BP . � $R

� � 3) ( � J ) { � L F � � � � ? � � ) { � � �� � � ? � �3



� � � � � � � �   ¡ ¢ £ ¤ ¥   £ � ¦ � ¥ ¥ § ¨ ¢ © ¥ ª � « ¬ £ ­ ª ¬ � £ ¤ ® ª   ¤ ¥ ¯ ¥ � � ° ¥ ±

yP $t b ² ³ ´ b� $t��BIZ{� �Y� 8���${ ��tRB�
w�D �wZ,%D )� µ �

µ
`

µ
8 ¶ � ` · ¸ ¹ 8 · ¸ ¹ ,

�Y�t
wMD

F �w{ ¶ , { º D ) & ¶ º � ¶ ,
�w{ ¶ , �D ) (,

F �w�, �D ) � d,
�wJ,JD ) � dbE3

y� PBjjBbR �Ys� �Y� 8���${ ��tRB� � $tIZ{�R Bt . · �Y� 8���${ ��tRB�
� ¶ º 3) �w� ¶ , � º D ) & ¶ º � ¶ � d

F » � ¶ � º ? ¶ ? º 3
qY$R 8���${ ��tRB�� ��IZ{�I �B b · � $R �-s{�jk �Ys� I�ht�I $t w1D� qY� {Bt{jZR$Bt $R �Ys�
b� {st bB�, Bt �Y� {B%s�$st� 8���${ ��tRB� e Ak $t���}���$t� $� sR �Y� 8���${ ��tRB�
$tIZ{�I Bt . · Ak �Y� }R�ZIBTeZ{j$I�st 8���${ w�D
qY�B��8 1� N�� w�, RD A� �Y� tZ8A�� BP �Y� }BR$�$%� stI t��s�$%� {BtR�st�R � ¼ � ��R}�{T
�$%�jk� qY�t� PB� E k ( �Y� R$�ts�Z�� BP e $R w�, RD stI PB� E c ( �Y� R$�ts�Z�� $R
w�� d, R L dD�
_�BBP� qY� %�{�B� J $R B��YB�Btsj �B . ½ �

�wJ, � ¾ D ) (3
qY� R$�ts�Z�� BP � $R w�, RLdD� 3�B8 wMD b� R�� �Ys� $P E k (� J $R �$8�j$,�� 7$t{� $� $R
B��YB�Btsj �B . ½ � $� PBjjBbR �Ys� �Y� R$�ts�Z�� BP �Y� 8���${ $tIZ{�I Bt . ½ Y�t{�� �Y�
R$�ts�Z�� BP e $R w�, RD� yP E c (� J $R R}s{�j$,�� RB �Ys� �Y� R$�ts�Z�� $R w�� d, RLdD�
qY�B��8 n� qY� 8���${ e YsR {BtR�st� t��s�$%� {Z�%s�Z���
_�BBP� ( ¿ � ¾ ) � ¾ ( ¿ À ÁÂ � ) � Ã

w Ä
Â & Ã Å � Æ ÇÂ È ( Å F

W
� ) É ÊË

w
& Ì Í � É

Î Ï Ð Ï Î
Ñ Ò

W
��

w�D ( Ó � Ô ) d
F � Ô Ó �3

G� {BtR$I�� �Y� Zt$� %�{�B� B��YB�Btsj �B . Õ � Z ) /E/ Ö× J� PB� {B8}Z�$t� �Y� R�{BtI
PZtIs8�t�sj PB�8 BP . Ø �

4 Ù Ú ) �w( Ù � Ú ,ZD ) � /E/ ÛÜ � Ù Ú 3
qY� �$��t%sjZ�R BP 4 Ù Ú b��� �B �Y� 8���${ � Ù Ú s�� sjj �JZsj �B �/E/ ÛÜ � qY$R RYBbR
�Ys� . Ý YsR s {BtR�st� $t��$tR${ {Z�%s�Z��� qY� R$�t BP �Y$R {Z�%s�Z�� $R s 8s���� BP
{Bt%�t�$Bt� G� tB�� �Ys� �Y� �$��t%sjZ�R IB tB� I�}�tI Bt �Y� R$�t BP �Y� � Ù � yt �Y�
{sR� bY��� �Y�k s�� sjj }BR$�$%�� �Y� 8���${ � $R s �$t,BbR,$ 8���${� stI . Ý $R �Y�
Yk}��ABjB$I BP �Y� Zt$� �$8�j$,� %�{�B�R B�$�t��I $t �Y� PZ�Z��� y�R {BtR�st� {Z�%s�Z��
$R ,tBbt �B A�� Ak {Bt%�t�$Bt� t��s�$%� wsR b�jj sR PB� s Zt$� R}Y��� �Y� {Z�%s�Z�� $R
sRRZ8�I �B A� }BR$�$%�D�
qY�B��8 ;� qY� ]Y�$R�B&�j Rk8ABjR BP �Y� 8���${ � Þ ß s��

� à á â ) �E ? à � á â



ã ä å æ ç æ ç è é ê ë ì í î é ì ç ï æ î î ð ñ ë ò î ó ç ô õ ì ö ó õ è ì í ÷ ó é í î ø î è æ ù î ú

_�BBP�  k I�ht$�$Bt� � û ü ý þ ) ew( ÿ � � , � þ D ) �w( ÿ � � , � þ D�  �{sZR� BP w�D stI wED�

� ÿ � � þ ) d
F � ÿ � �w� þ , �D ) d

F � ÿ � N D� � �� � þ ? þ i ) � � � þ ? þ � ÿ � 3

� � ÿ � ) o � þ � ÿ � � þ ) � w� � & � þ LE? � ? þ D w� � þ ? þ � ÿ � D
) � � � ÿ � D� � � � ? � LE? � � þ � þ w? þ D � i ) �E � � ÿ � ? �

D �� L� þ � þ w? þ D � i3
3B� stk {Bt��s%s�$st� 1T��tRB� x ÿ � �
wd(D n ÿ x � � ) ( ÿ x � � L � � ÿ � x � 	 L � 	 
 � x � � ) ( 
 x � 	 �ED? � x � 
� L ? 
 x �

� � i3
3B� stk wd, dD ��tRB� x �� �
n � x 
� ) ( � x 
� L � 
 � � x �� � � �� � x �� ) ( � x �� �E D? � x � � � ? � x �� � � � i, � � � x �� ) x � � 3
G� {BtR$I�� �Y� {sR�

x � � ) 4o � � ) 4g � � L 4E ? � ? � L �� w 4j � ? � L 4j � ? � D,
bY��� 4g � � stI 4j � s�� {BtR�st�� 3�B8 wd(D�

n � x � � ) 4E w& �� ? � L & �� ? � D L �� w 4j � & �� L 4j � & �� D�ED? � x �� L ? � x �� i3
G� BAR��%� �Ys�

� � � ? � ) & � � � � ? � � � � � � � ? � w? � D � ) � � ? � Dd� �
i ) �
� � � ? � 3

qYZR�
n � x �

� ) n � x � � � � �
) � � �

D 4E w& �� ? � L & �� ? � D L �� w 4j � & �� L 4j � & �� D�ED? � x �� L ? � x �� ii
) 4E D& ��

�
� � � ? � L � � � ? � iL �� w 4j � � � � L 4j � & �� D�E? � x � � � � � � ? � x �� 3

qY$R }�B%�R �Y� ZR�PZj PB�8Zjs

wddD n � 4o �
� ) ? � D 4E � � � �E 4o � �

iL �
� � � ? � D 4E& �� �E 4o �� iL �� w 4j � � � � L 4j � & �� D

E� qY� �B�R$Bt BP e b��� �B 4e�
N�� e A� st �jj$}�${T}s�sABj${ ��tRB�� VRRZ8� �Ys� 4e $R st �jj$}�${ 8���${ ��tRB� w4E W) (D�
G� s}}jk �B $� sjj �Y� ��RZj�R BP �Y� }��{�I$t� R�{�$Bt� G� ��{sjj �Y� jsR� PB�8Zjs wAk
$t���{Yst�$t� e b$�Y 4eDU
wdD 4n � o �� ) ? � DE 4� � � � 4E o � � iL 4�4E 4� � ? � DE& �� � 4Eo ��

iL �� wj � 4� � � Lj � & �� D3



�  ! " # " # $ % & ' ( ) * % ( # + " * * , - ' . * / # 0 1 ( 2 / 1 $ ( ) 3 / % ) * 4 * $ " 5 * 6 7

<�t{��
o 89 4n 8 o :; )
) o 89

}
? :

DE 4� 8
; � 4E o 8

; iL 4�4E 4� ; ? ; DE& :8 � 4Eo :8
iL <= wj : 4� 8

; Lj ; & :8 D
]

) ? : wEo 9 ; � 4Eo =9 ; D L 4�4E 4� ; ? ; wEo :9 � 4E wo = D : 9 D L <= wj : o 9 ; L j ; o :9 D3

qY$R }�B%�R �Ys�

w1D o 89 4n 8 o :; ) 4�4E 4� ; ? ; wEo :9 � 4E wo = D : 9 D L <= j ; o :9 L 3 3 3

3 3 3 ) ���8R Rk88���${ $t w
, #D� !t �Y� B�Y�� YstI� b� {st b�$�� wdD $t �Y� PB�8

4n 9 o >; ) 4�4E 4� ; ? ; DE& >9 � 4Eo >9 iL <= j ; & >9 L 3 3 3 ,

RB �Ys�
o :>

4n 9 o >; ) 4�4E � ; ? ; wEo :9 � 4E wo = D : 9 D L <= j ; o :9 L 3 3 3 3
qY� {B8}s�$RBt b$�Y w1D RYBbR �Ys�

<weD ) (

qY�B��8 d� qY� �jj$}�${T}s�sABj${ ��tRB� e $R �B�R$Btj�RR b��� �B �Y� �jj$}�${ 8���${ 4e�
�� ejj$}�${T}s�sABj${ ��tRB�R sR {BtPB�8sj �$jj$t� ��tRB�R�
y� {st A� RYBbt > �d��1H �Ys� PB� o ? @ ) � ? & ? @ LE? ? ? @ �
wdD o 3) I��>o ? @ H ) � A w�D LE �

? � ?A B C w�Dw? ? D D 3
y� PBjjBbR �Ys�
w1D ( ? o ) 1E� ?A B C ? ? , o ? @ ( ? o ) 1E� ?A B C ? ? w� ? & ? @ LE? ? ? @ D ) 1Eo ? @ 3
N�� ZR ��{sjj �Y� {B88Z�s�$Bt ��js�$Bt

>e, 4eH ) 1 w4V@ e�V@ 4eD, V ) 1E�Lb, 4V ) 14E �L 4b3
3B� stk PZt{�$Bt W Bt b E b� Ys%�

>We, W 4eH ) W F >e, 4eH L W >e, W H@ 4eL W >W, 4eH@ e
) 1 W F w4V@ e�V@ 4eD L W >e, W H@ 4eL W >W, 4eH@e3



G H I J K J K L M N O P Q R M P K S J R R T U O V R W K X Y P Z W Y L P Q [ W M Q R \ R L J ] R ^ ^

qYZR� st �JZs�$Bt BP �Y� ,$tI JWe, W 4eo ) z @ 4e $R PZjhjj�I $&
1W 4VL >W, 4eH ) (, $���� >4e, W H ) 1 w14E �L 4bD W3

3B� 4E W) ( b� {st {BtR$I�� 4b ) ( b$�YBZ� jBRR BP ��t��sj$�kU >4e, W H ) ;4EW ��
qY$R �JZs�$Bt $R �JZ$%sj�t� �B

4o _
` ( _ W ) 14EW ? ` 3

*Z� �B w1D� �Y$R �JZs�$Bt $R RBj%�I Ak W ) I��w4eD ) I��w 4o _
` D� qYZR�

qY�B��8 d� yP �Y� ��tRB� p ) I��w4eD 4e $R s 8���${ ��tRB�� �Y�t N ) I��w4eDe $R s
{BtPB�8sj �$jj$t� ��tRB��
qY�B��8 1� qY� ��tRB� N $R �B�R$Btj�RR b��� �B �Y� 8���${ p�
_�BBP� e $R �B�R$Btj�RR b��� �B 4e� qY� �$��t%sjZ�R stI �Y� �$��t%�{�B�R BP e b��� �B 4e
s�� �Y� Rs8� BP N b��� �B p� yP �Y� �$��t%sjZ�R BP e s�� R$8}j� stI ��sj� �Y�t sjRB
N $R �B�R$Btj�RR�
qY$R }�B%�R qY�B��8 d BP �n�

i�P���t{�R�
> � d��1H  �t�t�$� 7�� yt���$s ��tRB�R stI 7�[s{,�j RkR��8R $t �Y� eZ{j$I�st R}s{�R�

i�tI� 7�8$t� �s�� =t$%� _Bj$�� qB�$tB x(� ndxTn;d wd��1D�
> � d��nH  �t�t�$� 7�� !��YB�Btsj R�}s�sAj� Ikts8${sj RkR��8R� yt _�B{��I$t�R BP

�Y� x�Y yt���ts�$Btsj ]BtP���t{� Bt *$&���t�$sj p�B8���k stI y�R V}}j$T
{s�$BtR� 7$j�R$st =t$%��R$�k s� !}s%s� VZ�ZR� 1;T1M� d��1� !��BbsjR,$ m
*���Z},s eIR� *$&���t�$sj p�B8���k stI y�R V}}j${s�$BtR d� dEnTdM;�
G�A �I$�$BtU eN$Ae�7� Y��}U\\bbb��8$R�I�\}�B{��I$t�R�

> � 1((nH  �t�t�$� 7�� Vt BZ�j$t� BP �Y� ��B8���${sj �Y�B�k BP �Y� R�}s�s�$Bt BP
%s�$sAj�R $t �Y� <s8$j�BtTFs{BA$ stI 7{Y�[BI$t��� �JZs�$BtR� yt 7k88�T
��k stI _���Z�As�$Bt qY�B�k T 7_q 1((1 w}�B{��I$t�R BP �Y� {BtP���t{�
Y�jI $t ]sjs pBtBt�� d�T1E �sk 1((1D� 7� VA�tIs� p� ps��s� 7� Gsj{Y��
eIR�� GB�jI 7{$�t�$h{�

> � 1((;sH  �t�t�$� 7�� <s8$j�Bt$st !}�${R stI p�t��s�$t� 3s8$j$�R� Ws}Bj$ 7��$�R
Bt _YkR${R stI VR��B}YkR${R�  $Aj$B}Bj$R wWs}Bj$� 1((;D�

> � 1((;AH  �t�t�$� 7�� 7�}s�sA$j$�k $t i$�8stt$st 8st$PBjIR� iBksj 7B{$��k� _Y$j�
q�stR� V wPB��Y{B8$t�D�

> Cj�� 1((nH  CjsR9s,� �� m �s� G�T��� 7�}s�sAj� <s8$j�Bt$st �JZs�$BtR Bt i$�8stt
8st$PBjIR stI ��js��I $t����sAj� YkI�BIkts8${ RkR��8R� F� p�B8� _YkR�
;�� 1dT;1 w1((nD�

> Cj� 1((nH  CjsR9s,� ��� 7�}s�sA$j$�k �Y�B�k BP p�j:PstIT�s,Ys��%${ RkR��8R Bt i$�T
8stt$st 8st$PBjIR� _��}�$t�� V� �${,$�b${R =t$%��R$�k� _B9ts?t w1((nD�

> Cj � 1((nH  CjsR9s,� �� m  sIBbR,$� N�� 3�B8 R�}s�sAj� ��BI�R${ 8B�$Bt �B A$Ys8$jT
�Bt$st I$R}��R$Btj�RR {Ys$tR� _��}�$t�� V� �${,$�b${R =t$%��R$�k� _B9ts?t
w1((nD�



a b c d e d e f g h i j k l g j e m d l l n o i p l q e r s j t q s f j k u q g k l v l f d w l x y

> �� 1((nH  BjR$tB%� V� z� m �s�%��%� z� 7�� p�B8���${sj $t���}���s�$Bt BP  �t�t�$
RkR��8R� F� p�B8� _YkR� ;;� ;M�Tx(E w1((nD�

>]� 1((nsH ]�s8}$t� ��� ]BtPB�8sj �$jj$t� ��tRB�R b$�Y %st$RY$t� �B�R$Bt stI �Y�
R�}s�s�$Bt BP %s�$sAj�R $t �Y� <s8$j�BtTFs{BA$ �JZs�$Bt� *$&� p�B8�
V}}j� dM� M�Td(1 w1((nD�

>]� 1((nAH ]�s8}$t� ��� _�B`�{�$%�jk eJZ$%sj�t� i$�8stt$st 7}s{�R sR +ZsR$TA$T
<s8$j�Bt$st 7kR��8R� V{�s V}}j� �s�Y� �� wnD� 1n�T1;M w1((nD�

>]7� 1((dH ]�s8}$t�� ��� 7s�j��� G�� V {jsRR BP tBt{BtR��%s�$%� Ns��st�$st RkRT
��8R Bt i$�8stt$st 8st$PBjIR� F� �s�Y� _YkR� ;1 w�D� ;ndnT;n1E
w1((dD�

>]7q� 1(((H ]�s8}$t�� ��� 7s�j��� G�� qYB8}RBt� p��  $TI$&���t�$sj {sj{Zj$� A$T
<s8$j�Bt$st RkR��8R stI {BtPB�8sj �$jj$t� ��tRB�R� F� _YkR� VU �s�Y�
p�t� nn� M�xxTM��( w1(((D�

>3� d�x(H 3���$R� <�e�� V 8��YBI PB� BA�s$t$t� �Y� {Ys�s{���$R�${ �JZs�$Bt BP s 8sT
��$- stI {B8}Z�$t� �Y� sRRB{$s��I 8BIsj {BjZ8tR� +Zs��� V}}j� �s�Y�
M� 1(ET1d1 wd�x(D�

><� d�xxH <sst�`�R� F�� !t � z TPB�8$t� R��R BP �$��t%�{�B�R� _�B{� �Bt� W�I� V,�
G��� V8R���Is8 V xM w1D� dxMTdE1 wd�xxD�

>y��� 1(((H yAB��� V�� �s��$� 3� m �s�8B� p��  $Ys8$j�Bt$st R��Z{�Z��R stI 7�[s{,�j
R�}s�sA$j$�k� F� p�B8� _YkR� nn� 1d(T11M w1(((D�

>��� d�M(H �sjt$tR� e� p� m �$jj�� F��� G�� �$jj$t� ��tRB�R stI %s�$sAj� R�}s�s�$Bt
PB� <s8$j�BtTFs{BA$ stI <�j8YBj�9 �JZs�$BtR� 7yV� F� �s�Y� Vtsj� dd�
d(ddTd(1E wd�M(D�

>N]� dM�EH N�%$T]$%$�s� q�� 7Zjj� ��sRPB�8s9$Bt$ I�jj� �JZs9$Bt$ I$ts8${Y�� Vtt� I$
�s��8� 1;� 1xxTn(( wdM�ED�

>N� 1((dH NZtI8s�,� <� V t�b {jsRR BP $t����sAj� W�b�Bt RkR��8R� F� WBtj$t�
�s�Y� _YkR� M� RZ}}j�8�t�� d�xTd�� w1((dD�

>� Cj� 1((1H �s�{$t$s,� �� m  CjsR9s,� ��� 7�}s�s�$Bt BP %s�$sAj�R $t JZsR$T}B��t�$sj
RkR��8R BP A$T{BPs{�B� PB�8� F� _YkR� VU �s�Y� p�t� nx� 1�;�T1�E;
w1((1D�

> �G� d�MMH �s�RYsjj� y� m GB`{$�{YBbR,$� 7�� GY�t $R s <s8$j�Bt$st
RkR��8 $t����sAj�2� F� �s�Y� _YkR� 1�� dnnMTdn;E wd�MMD�

>W� d�xdH W$`�tYZ$R� V�� � { | } TPB�8$t� R��R BP �$��t%�{�B�R� W�I��j� V,sI� G���tT
R{Y� _�B{� x;V� 1((T1d1 wd�xdD�

>i� 1((;H isZ{YTGB`{$�{YBbR,$� 7�� 3�B8 Fs{BA$ }�BAj�8 BP R�}s�s�$Bt BP %s�$T
sAj�R �B �Y�B�k BP JZsR$}B��t�$sj W�b�Bt �JZs�$BtR� qB s}}�s� $t iBksj
7B{$��k� _Y$j� q�stR� V�

>iG� 1((nH isZ{YTGB`{$�{YBbR,$� 7� m Gs,R`[B� ]� 7�[s{,�j R�}s�sA$j$�k PB� W�b�Bt
RkR��8R BP {BPs{�B� �k}�� _��}�$t�� =t$%��R$�k BP N$t,[B}$t� w1((nD�

>i�N� d���H isZ{YTGB`{$�{YBbR,$ 7�� �s�{$t$s,� �� m NZtI8s�,� <�� +ZsR$TNs��T
st�$st RkR��8R BP W�b�Bt �JZs�$BtR� F� �s�Y� _YkR� ;(wd1D� EnEETEn�M
wd���D�

>7{� d�x;H 7{YBZ��t� F� V�� i${{$ ]sj{ZjZR� 7}�$t��� w ��j$t� d�x;D�
>7B� d�x(H 7BZ�$sZ� F���� N� {sj{Zj R}$tB�$�j �� R�R s}}j${s�$BtR� i�{Y��{Y� V?��BT



~ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �

tsZ�$JZ� d;� nTM wd�x(D�
>q� 1((1H qB}sjB%� _�� <$��s�{Y$�R BP {BPs{�B� RkR��8R� F� _YkR� V nx� Nd�xTNd��

w1((1D�
>G� 1(((H Gs,R`[B� ]�� 7�[s{,�j �Zj�$}j$��R $t eZ{j$I�st 7}s{�R� N$t,[B}$t� 7�ZI$�R

$t 7{$�t{�R stI q�{YtBjB�k� Mnnw1(((D�
>G� 1((nH Gs,R`[B� ]�� *����8$ts�$Bt BP 7�}s�s�$Bt ]BB�I$ts��R PB� _B��t�$sj stI

+ZsR$T}B��t�$sj W�b�Bt 7kR��8R� N$t,[B}$t� 7�ZI$�R $t 7{$�t{�R stI
q�{YtBjB�k� M;xw1((nD�

>Gi� 1((nH Gs,R`[B� ]� m isZ{YTGB`{$�{YBbR,$� 7�� <Bb �B htI R�}s�s�$Bt {BB�I$T
ts��R PB� �Y� <s8$j�BtTFs{BA$ �JZs�$BtU s {�$���$Bt BP R�}s�sA$j$�k PB�
ts�Z�sj <s8$j�Bt$st RkR��8R� �s�Y� _YkR� Vtsj� p�B8� w�B s}}�s�D�


